DIBFEEFAEALL(TASEIT) IEALLBAME

=R v =
HLER IE4 TEH% EEAWM AR [ &4L T iE {4
% 12 5 FEEREW® 70,000,000 | iR 5E
HEMERSREDEREE ) % #A 80,000,000
TE7533 5/ 2R ERNRETE WAHa—2E% 81,000,000
b = 8 & ® 82,700,000
X f1 B E #® 83,000,000
BE E X ®W 83,900,000
B B M B T % 84,000,000
st g =1 (1[5 KtE MMAY T2 ER 84,800,000
LR gg?gag (] X b= 85,000,000 90,000,000
W 2 7 — Rk 85,300,000
% F #H 85,500,000
(S A - P 86,000,000
@ Ww T # 86,000,000
HI R — AR R AL B H E & ® 86,600,000
BEFAHL W 72 ¥ £ k 88,000,000
THI: SF4FE3/17H = m B & ® R
% 13 & (7Y #F #H 47,670,000 | iR5E
RELEEGRADEREHRSESE A v a— 2% 49,300,000
TE6186F R/ SR ERNREITE ) B M B T % 49,600,000
@ Ww T # 49,950,000
Wwhy s &% 51,100,000
% % #A 51,500,000
st g = (1[5 . | B B R M® 51,700,000
e % X W ® ® @] 51900000 54,990,000
W 272 7 — XLk 52,200,000
M h BT %5 52,450,000
FERB EW® 52,600,000
il PR A — AR R A #L B E X ® 52,950,000
BEFAHL W 72 ¥ £ bk 53,000,000
THY: ©F145F2H25H = BB F W iR
% 14 B BE E X ®W 56,000,000 | iR %E
RELEESRADEREHRSESE WAHhY <2 EH% 56,800,000
&6 1865 R/ SHRRERBIEIEZMD2 X 1 B & ® 57,000,000
B B M B T % 57,500,000
% #® #A 57,500,000
WA Ha— 2% 57,800,000
FEEREW® 57,800,000
E A IER Bzt B 7 7 — X b 58,000,000 59,230,000
(7Y =2 #A 58,200,000
= BB FE® 59,230,000
W 72 ¥ £ k 61,000,000
W H B T IS 23
il PR A — A% R A #L H H B X ® R
BFALL T = R
THY: §F135F12H3H m Ww T # iR
¥ 15 & N OE OB W 12,900,000 | iR 5E
MEO1 18 iRHEMIEIE W 8 F T % 13,100,000
- . H H B & ® 13,250,000
BRI ® [E & B % ®| 13360000 13,630,000
BEFAL W HF H A 13,400,000
THI: SF3EFE9IH30H H = E X ® 13,500,000
¥ 16 5 = m OB E W 11,050,000 | sk5E
MEO1 155 #RHEMIEIE W 8 F T % 11,170,000
- B £ E ¥ ® 11,250,000
BRI REH B H Z & ® 11,300,000 11,350,000
BEFAHL N OE OB W 11,360,000
THA: ©F13EF9A30H W HF H 11,400,000
£ 17 B B H Z & ® 8,900,000 | ;R5E
MiEO1 28 S #RtHEMIEIE W 8 F T % 9,000,000
o s = m B & ® 9,080,000
BRI OB & 2 ®| 9100000 9,080,000
BEFAL N OE OB W 9,100,000
THY: §F13E9A10H W H H # 9,200,000




% 18 & WMNiEE 33,400,000 | ;
B R RR—YAE LR/ \—) ZRRHREER BB TE 7] [ 37,700,000
HRGBREEEER) il R T — A A AL M (K ® B 77,800,000 71,860,000
BF AL ERESXI 78,800,000
THY: ©F4F1821H
KE 7 B GCEER 19,000,000 |
HEKESE WiE6161 MM BREKERRETSE B B 2 & 19,240,000
W dt 3+ 2 19,300,000
vt . | E 3T 19,400,000
EKER FNEF R RTRS 19.550.000 20,180,000
| = 1B ; 19,700,000
BFALL W 7 4 20,000,000
THY: ©F14F1831H W 2 o 20,400,000
KE 8 & @ F R 7,650,000 | ;
B 14335 #5M BRREKERERISE B = & 7,760,000
EKER “#iE R R B 7,790,000 7,860,000
BEFAL (B & B & 7,800,000
THA: SFI35E12H10H GRS 7,810,000
KE 9 & X B B 8,800,000 | ;
BHEKERENERERVHERSBETS W 7 11,500,000
= = 12,100,000
LIKEER BHA [E H T 12,200,000 12,400,000
ES 12,260,000
BEFAL W F — 12,270,000
THI: SF4F1831H ARy F R
T¥ 5 & " % 9,520,000 | ;
RUR—ILVERHIE(ZTD) W T 9,550,000
s F & 9,610,000
TKER Gil% & E & 9,640,000 9,820,000
BEFAHL B /DhE L 9,700,000
THi: ¥F035F12H28H | F B 9,720,000
TE 6 & 7 S 9,450,000 | 3
RUR—IVEEHTIE(ZD2) CE 9,470,000
vt e E 9,500,000
TKER Gil% 7 E n = 9.530.000 9,630,000
BEFAHL B B k B 9,550,000
THY: ¥F13F12816H H f ## 9,610,000
TE 7 5 B® & & K 28,960,000 | ;
RUR—IVEEREHTIE(ZD3I) @ K K E 29,050,000
B O & & ® 29,050,000
M XX+ B % 29,150,000
BT E X ® 29,250,000
TKER mA A k R B & 29,300,000 29,860,000
w 4+ > 272 o 29,460,000
W v d+a— 29,500,000
il PR T — A A AL Wo)—ramoy 29,560,000
BEFAHL = R E E M 29,600,000
THi: ¥F045F283H ETITERE® iR




